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Key Reasons for the High Cost of Healthcare
in the US - Quiz

To view the article that this quiz is based on, please go to: https://constitutionus.com/health/key-
reasons-for-the-high-cost-of-healthcare-in-the-us/

Q1. What percentage of the US healthcare dollar goes to
administrative expenses?

A. 2% to 3%

B. 5% to 7%
C. 8% to 10%
D. 12% to 15%

Q2. How much does the federal government disburse in subsidies
for national health care programs?

A. $500 billion
B. $1 trillion
C. $2 trillion
D. $3 trillion

Q3. How much more do Americans spend on medicinal drugs
compared to other advanced nations?

A. 1-2 times
B. 2-3 times
C. 3-4 times
D. 4-5 times
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Q4. What is the average annual salary of a US family doctor?

A. $150,000
B. $218,173
C. $250,000
D. $300,000

Q5. What percentage of the country’s healthcare costs go to
hospital care?

A. 10%
B. 20%
C. 30%
D. 40%

Q6. How much does a CT scan cost on average in the US?

A. $97
B. $400
C. $500
D. $800

Q7. What is one reason for the high cost of healthcare in the US?

A. Low administrative costs
B. Government-controlled drug prices
C. Defensive medicine practices

D. Low salaries for medics



Q8. Which program is prohibited from negotiating drug prices
with manufacturers?

A. Medicaid
B. Healthcare.gov
C. Private insurers
D. Medicare

Q9. What is a significant factor in the high cost of hospital care in
the US?

A. Low prices for invasive procedures
B. High prices for invasive procedures
C. Free hospital care

D. Government subsidies

Q10. Why do US healthcare prices keep fluctuating?

Due to a solid regulatory framework
Because of fixed drug prices

Due to the absence of a solid regulatory framework
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Because of low administrative costs



Answer Key

Ql:
Q2:
Q3:
Q4.
Q5:
Qo:
Q7:
Q8:
Q9:
Ql0: C
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